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Summary

The law of demand is a fundamental economic principle that states that, all else being equal, the quantity
demanded of a good or service will decrease as its price increases. This is because consumers have limited
resources and will tend to purchase more of a good when it is cheaper and less of it when it is more

expensive.
Demand curve, which is a downward-sloping line that shows the relationship between the price of a good

or service and the quantity demanded. The demand curve is downward-sloping because consumers are more

willing to purchase a good or service when it is cheaper.

Factors demand, including:

Consumer income: Consumers with higher incomes are generally able to purchase more goods and services
than consumers with lower incomes.

Consumer preferences: Consumers may have different preferences for different goods and services. For
example, some consumers may prefer to purchase name-brand products, while others may prefer to
purchase generic products.

The prices of related goods and services: The prices of related goods and services can also affect the
demand for a good or service. For example, if the price of a substitute good decreases, the demand for the
original good may decrease.

Expectations about future prices: If consumers expect the price of a good or service to increase in the future,
they may be more likely to purchase it today.

Elasticity of demand is a measure of how responsive consumers are to changes in the price. It is
calculated by dividing the percentage change in quantity demanded by the percentage change in price.
Elasticity of demand = (% change in quantity demanded) / (% change in price)

If the elasticity of demand is greater than 1, the demand is elastic. This means that a small change in price
will lead to a large change in quantity demanded. If the elasticity of demand is less than 1, the demand is
inelastic. This means that a large change in price will lead to a small change in quantity demanded.

Factors elasticity, including:

Availability of substitutes: If there are many close substitutes available for a good or service, demand will be
more elastic.

Necessity of the good or service: If a good or service is essential, demand will be more inelastic.

Time horizon: In the short run, demand is less elastic than in the long run. This is because consumers need

time to adjust their spending habits to changes in prices.



